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Show all your work and results. Do not give more than one answer otherwise the wrong one will be
considered.




Question No.1: (25 points)

For the amplifier circuit shown below, ignore r,

(a) Drive an expression for the midband voltage gain Ay =V,/V;.
(b) Find all high frequency poles.
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Question No.2: (20 points)

1.

ii.

Determine the type of the feedback configuration for an amplifier circuit to achieve the following

objectives: [10 points]
y
a) Low Input Resistance Rj, and Low Output Resistance Roy......... (,g/l‘l'l[' - S/‘%kbf’ 5
Al /.
b) Low Input Resistance R, and High Output Resistance Roy........ 5 h ant. - CSC ri 6‘5 5
Determine the type of the feedback configuration in the amplifier circuit shown below in the
following cases: [10 points]
-
a) Feed back network B consists of resistor Ry ,S/l unr- & h unt 5
: -
b) Feed back network B consists of resistor Ry and Rg: Jlllum,k‘ ~ Serie 5
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Question No.3: (30 points)

The following figure shows an amplifier circuit, ignore r,

1. Determine: type of the feedback configuration, R, and Ry, [6 points]
2. Sketch A circuit [6 points]

3. Drive expression for the open loop gain A. [8 points]

4. Drive expression for feedback factor B.  [5 points]

5. Determine the closed loop gain (v,/is)  [5 points]
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Question No. 4: (25 points)

i. Write a general transfer function T(s) for a first order Low pass filter. [5 Points]
Ao
Tz — S
S x W,

1. For the shown active filter circuit:

a) Derive an expression for the transfer function v,(s)/vi(s). [8 Points]

b) What is the filter type? [4 Points]

¢) Find an expression for the pole frequency ®,. [4 Points]

d) Find the dc and high frequency gains. [4 Points]
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